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B.Sc. (Part III) Examination, 2022
(Old Course)

CHEMISTRY
PAPER SECOND

(Organic Chemistry)

Time : Three Hours] [Maximum Marks : 33

 



Note :Attempt all the five questions. One question
from each unit is compulsory.

1 / Unit - 1

1. (A) 

P.T.O.
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



How do we synthesis Quinoline from Skraup
process? Express each step briefly.

(B) 
 

Explain electrophilic substitution reaction in
thiophene with suitable examples.

(C)  

i 

ii 

iii 

iv 

Which one act as acid ?

(i) Pyridine

(ii) Quinoline

(iii) Piperidine
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(iv) Pyrrole

 / OR

(A)  

i CH3I

ii NaNH2

iii 300oc HI



What happens? When Pyridine reacts with :

(i) CH3l

(ii) NaNH2

(iii) HI at 300oc

(B)       

 

Why Thiophene is less reactive as compare to
Furane?

P.T.O.

3 2
........... ?H C H CH NH

O
N
H

[4]

F- 3815

(C)  

Complete the following reaction :

2 / Unit - 2

2. (A) 

 

What is Claisen condensation? Explain the keto-
enol tautomerism by giving example of aceto-
acetic ester.+

(B) 

 

Give one preparation method and two synthetic
uses of dialkyl Zinc.

(C) CH3- Mg - X Mg

 

i 

ii 

iii 

iv 
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In CH3Mg.X the bond present between Mg and
ether is –

(i) Hydrogen Bond

(ii) Covalent Bond

(iii) Co-ordinate Bond

(iv) Electrovalent Bond

 / OR

(A)   


 

What do you understand by acidity of - hydro-
gen atom? How enolate ion is formed? Explain
its stability.

(B)  

(i) 



(ii) 


[6]

F- 3815

(iii) 



(a) CH3.CH2.Li

(b) CH3.CH2.Mg.Br

(c) (C2H5)2 Zn

Give reasons :

(i) Formic acid cannot be synthesised with
the help of Grignard reagent.

(ii) Dry ether is used as solvent in the synthe-
sis of Grignard reagent

(iii) Which of the following is least reactive?

(a) CH3.CH2.Li

(b) CH3.CH2.Mg.Br

(c) (C2H5)2 Zn

3 / Unit - 3

3. (A)  
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(i) 

(ii) , ,  

Write short notes on the following

(i) Epimerisation

(ii) Effect of heat on , ,  and  Amino acids.

(B)  

What do you understand by the term Zwitterion?

(C) 
D  

Why we use D-prefix before naming of fructose
but fructose is levo rotatory?

 / OR

(A) D.N.A.R.N.A.

What are D.N.A. and R.N.A.? Describe their work.

(B) 



(i) HNO3(ii) (iii) NaOH

P.T.O.
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Write the reaction of glucose with following
acids.

(i) Conc. HNO3 (ii) Periodic acid  (iii) Dilute NaOH

(C) 

 

How many asymmetric carbon atoms are avail-
able in fructose molecule? Find out.

4 / Unit - 4

4. (A)  

(i) 

(ii) 

Write short notes on the following:

(i) Methyl Orange

(ii) Malachite Green

(B)  

 
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Discuss the mechanism of free radical Vinyl
polymerisation.

 / OR

(A)  

(i) 

(ii) S

(iii) 

(iv) 

Write short notes on the following:

(i) Natural rubber

(ii) Buna-S-rubber

(iii) Poly urathen

(iv) P.V.C.

(B) 
 

P.T.O.
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How dyes are classified on the basis of their
applications?

5 / Unit - 5

5. (A) U.V.  

Discuss various electronic transitions in U.V. re-
gion.

(B) PMR TMS

 

Why is TMS used as standard in PMR?

 / OR

(A) I.R. 
 

What is the importance of I.R. spectroscopy,
discuss briefly?

(B) 

 

What do you mean by "Chemical shift"? What
are the factors affecting chemical shift?


